<

r)

D1

€1,23 4,5 1,23,4,5 1,2 3 4,5 - °llA 20144
o

@ 2 @3 @ ® 5

o121

2014 =

TE21, 2, 3, 4, 59 5719 A HIREER
)

x 402 + 494 2014 HA] -2 40|},




the QoA a+ b o] S Fatolet.

1,2, 4,7, 11, a, b, ---

\VARR 4
0
L

38




o 2k+1

S f(n) = 12422432+ 4 n2 0] tate] 120 0 o 727
40 45 17 57 63
@7 @ < Sy T DT

B

fln)=124+22 432 ... 4 2
_ s n(n+1)(2n+1) olm

6
00 2k+1

=)

1k2: =

0  2k+1
=1 R Dk D)

6
(1_;
20 40
=0xor =7

6
20
= 2= g 1)

(-2

20
k=1

)

k k+1

1- —
21




1 1 1

4. 1
A R I S S B SRR (T
2014 2015 2015 2014
O 2015 @ 2016 @ 1008 1008
1 1 2 gug
1+2+---+n nmr+1) namw+1)
2
2
Z o]z Al\— 2015
("l—011_ -1) k=1 n(n+1)

1 1
22015
k=1 n n+1
<1 1 ) _2x2015 2015

2016/ 2016 1008




ARFEE A nF7A 2] ol §, = n?

L Legren
as aso
O 2% 0% O5 Qg

S
SHG-D 6D G )
-3\ 2 2 3 19 20

—1<1_l>_§
3 20/ 60




xol ek ol 24 2 4 dx - (20— )20+ 1) = 0] F L a,, B,

ol dhsted 12, (- *ﬂ%) o] gre

n

11 31 10 .
Yao Ya Ya Wy Yy

) 10 @ +ﬁn

(& 4=
L —1
" @, ﬁn
0 -4

_ 1

= n=1 -(2n-1)(2n+1)
1(#_ 1 )

“'2\2n-1 2n+1

:4Zig1
:22191 L 1
:2<1_

(2n—1_2n+1>
1)_40

21) 21




an=2n*+n(n=1, 2, 3,---) A FL {a,} & AZFTLLZ (b} 0l2kL

Sl 3702, by o A Fstelet
cCt "

>
> &= 250

B )

by, = any1 — ay
={2+1)*+ (n+1)} - (2n* +n)
=4n+3
SRS b = 2, (4k + 3)
Bt
= 250




8. 493, 4,6, 10, 18, 34, 66,--- ©] Aug} g, 29

@ 2n—2+2 @ 2n—1 -1 @2)1—1_,’_2

@ 2t -2 ® 2ntl 42

B

o171 5

an} &) AR LE (b,) 012t 5HH

—_—

ES

{a}:3, 4, 6, 10, 18, 34, 66,
VVVVVY

fad: 1 2 4 8 16 32,--

=, FAb,) 2 AAFol 1, TH7F 29 SHIFEo|ER




9.

T fa) oM ar = 2, arp = 25°1F. <€ {a,) & AT ES
olgt & wl, by + by + -+ + by & 27

@ 21 @ 22 (@)23 @ 24 ® 25

{bn}

aip—ar =by+by+---+by
Sby+byt by =25-2=23




10.

FEO TS =1+ 2x+3x% + 43 + -+ + "1 TS| ST (H,
x#1)
@S_n(l—x”) @Szl—x"
2 2
1-x" 2x" 1-x" 1-x"
S:——— S: —
@ 2 x @ 1+x (1-x)?
1-x" nx"
s -5 -1
SA493 SH14Q9 GOz oRolHl HFsel Fejolnz

S= 1+2z+ 32 + 423 +
—)zS= z+ 22°+ 37° +

Il xE &5k ®71E wd

B

- +(n—1Dz"+ na"

1-z)S= 1+ = + 22+ 2°+

1(1—x")
1—x
1-—x"

x"

—-n-

e r'—n-.x




11. o= <49 = Fs5tof=t

1-242-2243.234...49.2°

it

>
> =g 8194

B

§=1-24+2-2243-224...49.2°...09
28 =1-22+2-2+...48-2949.219...0
°o|B® 9-O= std

2(2° - 1)
—s =52~ _g.910
71l

=2.29-2-9.210
=2.29-18.29-2
=-16-2°-2

8§ =213 42=1024x8+2=28194




T4 (2), (4, 6),(8, 10, 12),(14, ---), --- oA Al 25+2] 5

@® 567 @ 589 ® 602 @610 ® 612

Al nto] ARG {a,} o]} SHH
{an}: 2, 4, 8, 14, 22, -
VVVYV
{bp}: 2 4 6 8 --->b,=2n
ek A g, =2+ 5524 2%k = n? — n+ 20|t}
A25 7] ARAFL 252-25+2 = 602°] 1, 5 HA] FL 602+8 =
610




13. o= 22 gl tiste] Aol A0t 7hA] 9 927

Al A2 A3 A4
(1), (1,2, (1,2, 3), (1,2, 3, 4)--

@® 200 @ 210 @220 @ 230 ® 240

B

An22] L a, 012} s
1
an:1+2+...+n:@

w2ha, A 12elA Al 10272 2] gL

k(k+1) 1

= = S
25(21121]‘2"'21121")
_1(10-11-21+10-11>
) 6 2

=220




14. nol AAFLd W, n+ (n—1)2+ (n—-2)22 .- +2-2"2 4 2071 9

@29
®© ot @ omtl_p @2"+1 -n-2
@ 2" 4+ n2 ® 2"n+2

Fo17 A g s = 5t
S=n+n-1)2+(n-2)2%+---+2.202 42071
HEo] FHolBg2 Rl 28 Foto] M7 Wi

2S8= ne2 +n-0D2>+-+2.-97"+2"
-) S=n+(n-12+n-2)2+-+ 2"
S=-n+ 2+ 2+ 4 24D
M —ontl _p,_9

S =
R




O T8 27 (Fx#1)

T+3x+5x2+73 + -+ (2n—1)x"1

S

I S

I
(1-x)2 1-x

@ _ 2((11_—;;"2) 1+ (12;1;1)#'

S=1+3x+5x2+73+ -+ 2n-1)x"1...Q
A = gpel B AL BgY I o
Lt (2n =3l 2r - ©
omg §- O a4
1-x)S =21+x+x2+x3+-+x"1)-1-(2n-1)x"
1-(x"—1)
x—1
21-2") 14+ (@2n-1)x"
(1-x2 1-x

1-x)8 =2 -1-(2n-1)x"

S =




16.

L {a,} A ARTEE (b olot @ W, oh= F bio+b11+bia+ - +bao
7

@) azp —dyg ) azp — aio

@021 —aio ® az; —dail

® a1 —dy

an = ay + Y35 b 0|22
az1 = ay + by + by + b3 +--- + by
bio +b11 +bia + -+ bay
=as — (a1 + b1 +ba+---byg)

= a1 —aio




17.

24 1, 5, 11, 19, 29, --- o] AH5} 4,27

® n2+n+1 (@)nQ—i—n—l ® n?+n-2
@ nP-n+1 ®n2-n-1

B

o1 +4E {a,}, 1 AL (b, ©l2t ofH
{a,}: 1, 5, 11, 19, 29, ---
VVVYV
4 6 8 10 -+ > b,=2n+2
coan =1+ 3070 (2k+2)
n(n—1)
2

=1+2- +2(n-1)

=n?+n-1




43, 4, 6, 10, 18, --- 2 AAFTE A nF7HA 9 9 5,27

@ 2m2+2m-1 @ 2% +2m+1 @2”—1—%—1

@ n?2-2n+1 ® 2" —2n

B

{a,} : 3, 4, 6, 10, 18, ---
VVVYV

a, =3+ (1+2+4+4---)
—,————
(=)

2n—1 _

1
=92"1 42
2-1 *

—3+

n

LSw =Y (@ +2) = 5 -

1 +2n=2"+2n-1




19.

L 54 {b,})& AAZ0I[A)], 3247 29 FALoltt
IL ajo =1+ 2 = O]

@ 91 )93 ® 95 @ 97 ® 99

9-10
am:1+§;,§’=12k:1+2-T

=1+490=91 .. [O] =91
O+O=2+91=093




$91,1,2, 1,23, 1,2, 3, 4,---,° tiste] 2 HHA Fojl A A&
o7 7o] 1} x| Jtatoia},

> E:

> Hgh: 28

. ~
TOE L B

1/1,2/1,2,3/1,2, 3,4/

a2 1l

2921, 2

3721, 2, 30|22
TE21,2,3, -, 7

67129 F FF)=1+2+---+6=21
21+ 7 =28(A &)

)




21.

> 2’ 2’ 33 33 3’ 4’ 4’ 4; 4;"' 01]/\‘1 i/iﬂﬁbao]—l?_Ei Xﬂ 100:60]-7]]—X]94

@® 930 @ 945 ® 950 @ 955 ® 960

1
S k= ("2 <100

=910]|B2 A 1472] 93 o]t}

a3 A nt7tA] 9] @ ol B
1+2x24+3%x3+4x4+4---nxn

SR = n(n+ 1§2n +1) oz

AAFEE A 1003742 9] T S 1002 Al 132717 2]
= 970 Bt ghol "k

13-14-27

Stof 14




22.

=992 3, 5 8 12, --- A H&oZ 200 Hr} AR 29

O 18 @ 19 @ 20 @21 ® 22

o017 +@0] AWFE q, 02k 51, T ARFD| b,
[e]
- 3

an=ar + 30 by =2+ 500k

(n-1)n n?>-n
S i

n2

w}2hA] 2‘” +2> 200914 n2 —n=n(n-1) > 396

OJE& 19 x 20 = 380, 20 x 21 = 42014 n = 21




23.

5
<
4
ol
ol
£
ol
Il
&
+

I
&
o
o
ok
R=)
g
rlo
S,
tlo
A
M
N
vV
<
>

H7]
Q@ FG{a,) 0l THIFEOH L (b} = TH Lol
© £4(b,)] SH5F]W 59 (q,) = Sul5Solct,
© FBa,}ol THIFDOIH 74 {a, - b}
Sul5golrt
®6 00 0060 @oe 606

~&B

Q. {a,} o1 AAZOl a, FH|7t rd SHFLEoIH

a, = ar*' o],

by = api1 —a, = ar* —art = a(r - 1)r~1 oo},

A, (b} ARGl a(r-1), 387 r & SHIG-Eoltt.
©. (5t2l) {a,}ol ZAFo] 1, THI7F 291 SHIGE L o,
{a,} & AAZo] 20]H {g,}> FHLEo] obH

{a,}:2. 3. 5. 9. 17. ---

e

©. {a,) ol AAFO] a, FH 7} r SHISHo|H
a, = ar"t °]11, {b,}
LOIRZ, (a4, by}
ARGl a?(r - 1), FH7F 2 SH|SHoltt, - F




24.

{an) & AATES (b,)ol2t S W, by + b3 + by + -+ + by T}

-
T2 A7

@ ago —aig @ ag - as ® as —ax
(@)am —daz @ dz1 —dax

by, = apy1 —ay O]—E—!E
ba +b3+bs+---+bao
= (a3 —az) + (a4 —az) + -+ + (@21 — azo)

= —az + a1 = as —az




25. o2 ¢ N ()2 bt o= B A 1179 & WA
5 5

o 2
sofat.

(1), (2, 3), (4, 5, 6), (7, 8, 9, 10),---

\VARR 4
0
L

. 57

118

(129 99 %) =
(229 &9 M) =2
(372 &9 7i4) = 30|22
(

102744 Fe] F4)=1+2+4 - +10 =55
L (20 A )= 560122
(1129] T3 )= 57




